
NOW “show what you know”  “How” … Below shows a model solution to  
this question … read it CAREFULLY! 
Q1. Work out the value of 24 

 
 

 
 

..................... 
(Total for Question 1 is 1 mark) 

Q1. Work out the value of :  

33   52   25 

 

 

Q2. Work out the value of :  

 

a) 62 + 82 =       b) 52 + 122 =  

 

c) 62 - 52 + 42 =      d) 32 + 42 + 52 + 60 =  

 

 

Q3. Can you work out the missing numbers?  

 

a) 82 - 72 = _____ - 14    b) 92 + 82 = ____ + 12 

 

c) 93 - 83 = _____ + 13    d) 73 - 63 = _____ - 17 

 

Getting tougher:  

 

a) 63 - 53 + 43—33 =  

 

b) 93 + 103 = _____ + 13 
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